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Sr Questions Answers Choice

1 During 2014-15, production of rice in Pakistan was:
A. More than 7million tons
B. About 10million tons
C. About 15million tons
D. 20million tons

2 During 2014-15, area under rice cultivation in Pakistan was:
A. More than 2.89 million hectare
B. 5million hectare
C. 10million hectare
D. 15million hectare

3 During 2014-15, per hectare rice yield in Pakistan was:
A. 2050 Kg
B. 4477Kg
C. 2500Kg
D. 3500Kg

4 In 1947-48, per hectare yield of rice was:
A. 880 Kg
B. 500Kg
C. 1000Kg
D. 1500Kg

5 At the time of independence, rice production in Pakistan was:
A. Eight thousand metric tons
B. 5 lakhmetric tons
C. 10 lakhmetric tons
D. 20 lakhmetric tons

6 In 1947-48, area under rice cultivation in Pakistan was:
A. 850 thousand hectare
B. 500thousand hectare
C. 100thousand hectare
D. 250thousand hectare

7 Which division of Punjab province produces maximum rice:
A. Gujranwala
B. Lahore
C. Sargodha
D. Multan

8 Punjab & Sindhprovince together, produce what percentage of rice ?
A. About 92 percent
B. 50percent
C. 70percent
D. 30percent

9 Which province of Pakistan producers 40 percent rice crop ?
A. Sindhprovince
B. Baluchistanprovince
C. Punjabprovince
D. N.W.Fprovince

10 Pakistan's 65 percent rice cultivated area is:
A. In Punjab province
B. In Baluchistanprovince
C. In mountainous region
D. In northern region

11 Basmati rice of Pakistan:
A. Is world reputed
B. Is not world famous
C. Has not any importance
D. Is very famous

12 For cultivation of one acre of rice crop:
A. 5 to 10 Kg seed is enough
B. 20Kg seed is enough
C. at least 40Kg seed is required
D. 15Kg seed is more than enough

13 For rice cultivation clayey soil is:
A. Best suitable
B. Not suitable
C. Suitable to some extent
D. Absolutely not suitable

14 Rice crop (plant) does best:

A. In standing water

B. In excessive water
C. In shortage of water
D. In dry conditions

15 In Pakistan, amount of rainfall in rice cultivation areas is:
A. Not enough
B. Absolutely absent
C. Very small
D. Not up to requirement




